Monday 20.07.2020 
	Fluent in Five

1) 1,941 – 872 =
2) 6 x 7 x 4 =
3) 100 x 5.9 =
4) 7.5 + 2.8 =
5) 45 ÷ 5 =

	Word Problem

Elsie buys a teddy for £6.10 and a pair of rollerblades for £8.20.

How much does she spend?

	Explain it

A soup recipe uses 3/4 as many onions as carrots. Jo is making the soup and has 8 carrots. How many onions does Jo use? Explain why. 

	Challenge

Write 10 questions where the answer is 8. Be inventive!



Answers

	Fluent in Five

1) 1,941 – 872 = 1,069
2) 6 x 7 x 4 = 168
3) 100 x 5.9 = 590
4) 7.5 + 2.8 = 10.3
5) 45 ÷ 5 = 9

	Word Problem

Elsie buys a teddy for £6.10 and a pair of rollerblades for £8.20.

How much does she spend?

£14.30

	Explain it

A soup recipe uses 3/4 as many onions as carrots. Jo is making the soup and has 8 carrots. How many onions does Jo use? Explain why. 

Jo uses 6 carrots
¼ of 8 is 2 carrots (8 ÷ 4)
so ¾ is 6 (3 x 2)
	Challenge

Write 10 questions where the answer is 8. Be inventive!

Lots of answers!! Such as…

[bookmark: _GoBack]2 + 6
100 – 92
55 – 47 
64 ÷ 8



